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• Gòej-hegefmlekeâe kesâ yeerÛe cesb Keeueer heVee/heVes ve ÚesÌ[W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 
Candidates must write their Roll Number on the 
question paper. 

• ke=âheÙee ØeMveeW keâe Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the question, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination.  

meeceevÙe efveos&Me : 

General Inst ruction : 

 (i) meYeer ØeMve DeefveJeeÙe& nwb~ 

  All questions are compulsory. 

 (ii) Fme heÇMve-he$e ceW kegâue 32 heÇMve nQ pees efkeâ Ûeej KeC[eW De, ye, 
me Deewj o ceW yeeBšs ieÙes nQ : 

  This question paper consists of 32 questions 

in all which are divided into four Sections : 

A, B, C and D : 
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  KeC[ De : Fme KeC[ ceW 1 mes 16 lekeâ kegâue 16 heÇMve nQ, 
heÇlÙeskeâ heÇMve 1 Debkeâ keâe nw~ 

  Section A : There are 16 questions from 1 

to 16, each of 1 mark. 

  KeC[ ye : Fme KeC[ ceW 17 mes 21 lekeâ kegâue 5 heÇMve nQ, 
heÇlÙeskeâ heÇMve 2 Debkeâ keâe nw~ 

  Section B : There are 5 questions from 17 

to 21, each of 2 marks. 

  KeC[ me : Fme KeC[ ceW 22 mes 27 lekeâ kegâue 6 heÇMve nQ, 
heÇlÙeskeâ heÇMve 4 Debkeâ keâe nw~ 

  Section C : There are 6 questions from 22 

to 27, each of 4 marks. 

  KeC[ o : Fme KeC[ ceW 28 mes 32 lekeâ kegâue 5 heÇMve nwb, 
heÇlÙeskeâ heÇMve 6 Debkeâ keâe nw~ 

  Section D : There are 5 questions from 28 

to 32, each of 6 marks. 

 (iii) KeC[ o ceW kegâÚ heÇMveeW ceW Deevleefjkeâ efJekeâuhe efoÙes ieÙes nQ~ GmeceW 
mes Skeâ heÇMve keâes Ûegvevee nw~ 

  Section D contains some questions where 

internal choice have been provided. You 

have to choose one of them. 
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KeC[ – De 

SECTION – A 

  1. cot 34° − tan 56° keâe ceeve nw : 1 

 (A) –1  (B) 0 

 (C) 1  (D) 2 
 The value of cot 34° − tan 56° is : 

 (A) –1  (B) 0 

 (C) 1  (D) 2 

  2. A2cos55 −  keâe ceeve nw :     1 

 (A) − 5  (B) A2sin  

 (C) 5 A2sin  (D) 5 

 The value of A2cos55 −  is : 

 (A) − 5  (B) A2sin  

 (C) 5 A2sin  (D) 5 

  3. Ùeefo 
3

5
θsec =  nes, lees cot θ keâe ceeve nw :    1 

 (A) 
4

3
  (B) 

3

4
 

 (C) 
5

4
  (D) 

4

5
 

 If 
3

5
θsec = , then the value of cot θ is : 

 (A) 
4

3
  (B) 

3

4
 

 (C) 
5

4
  (D) 

4

5
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  4. °+° 35sin55sin 22  keâe ceeve nw :  1 

 (A) −1  (B) 0 

 (C) 2  (D) 1 

 °+° 35sin55sin 22  is equal to : 

 (A) −1  (B) 0 

 (C) 2  (D) 1 

  5. Ùeefo Skeâ efyevog pees efkeâ Je=òe kesâ kesâvõ mes 10 mesceer keâer otjer hej nw, mes 
mheMe& jsKee keâer uecyeeF& 6 mesceer nw, lees Je=òe keâe DeOe&JÙeeme nw : 1 

 (A) 7 mesceer (B) 5 mesceer 
 (C) 8 mesceer (D) FveceW mes keâesF& veneR 
 If the length of the tangent from a point which is 

at a distance of 10 cm from the centre of the 

circle is 6 cm. Then radius of the circle is : 

 (A) 7 cm (B) 5 cm 

 (C) 8 cm (D) None of these  

  6. Ùeefo O kesâvõ Jeeues Je=òe hej AB leLee AC oes mheMe& jsKeeSB Fme heÇkeâej 
neW efkeâ °=115|BOC  nw, lees BAC|  keâe ceeve nw : 1 

 (A) 65°  (B) 75° 
 (C) 55°  (D) 90° 
 If AB and AC are two tangents to a circle with 

centre O, so that °=115|BOC , then BAC|  is :  

 (A) 65°  (B) 75° 

 (C) 55°  (D) 90° 
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  7. 7 mesceer ef$epÙee leLee 120° ef$epÙeKeC[ kesâ keâesCe Jeeues Je=òe kesâ ef$epÙeKeC[  
keâe #es$eheâue nw : 1 

 (A) 80 mesceer2 (B) 
7

132
 mesceer2 

 (C) 84 mesceer2 (D) 
3

154
 mesceer2 

 Area of the sector of a circle with radius 7 cm 

and angle of sector is 120°, is : 

 (A) 80 cm2 (B) 
7

132
 cm2 

 (C) 84 cm2 (D) 
3

154
 cm2 

  8. oes Je=òeeW keâer ef$epÙeeSB keÇâceMe: 10 mesceer leLee 7 mesceer nQ~ Gme Je=òe keâer 
ef$epÙee, efpemekeâer heefjefOe, Fve oesveeW Je=òeeW keâer heefjefOeÙeeW kesâ Ùeesie kesâ yejeyej 
nw, nQ :  1 

 (A) 100 mesceer2 (B) 70 mesceer2 
 (C) 17 mesceer (D) 3 mesceer 
 The radii of two circles are 10 cm and 7 cm 

respectively. The radius of the circle, which has 

circumference equal to the sum of the 

circumferences of the two circles, is : 

 (A) 100 cm
2
 (B) 70 cm

2 
 (C) 17 cm (D) 3 cm 

  9. Ùeefo Skeâ ieesues keâe he=…erÙe #es$eheâue 440 mesceer2  nes, lees ieesues keâer  
ef$epÙee nw : 1 

 (A) 35  mesceer (B) 28  mesceer 
 (C) 70  mesceer (D) FveceW mes keâesF& veneR 
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 If the surface area of a sphere is 440 cm
2
, the 

radius of the sphere is :  

 (A) 35  cm (B) 28  cm 
 (C) 70  cm  (D) None of these 

10. Skeâ uecyeJe=òeerÙe yesueve kesâ Deekeâej kesâ yele&ve keâe DeeÙeleve 324 π mesceer3 
nw leLee Fmekeâer TBÛeeF& 4 mesceer nw~ Fmekesâ DeeOeej keâer ef$epÙee nw : 1 

 (A) 7 mesceer (B) 8 mesceer 
 (C) 6 mesceer (D) 9 mesceer 
 The volume of a vessel in the form of a right 

circular cylinder is 324 π cm3 and its height is     

4 cm. The radius of its base is : 

 (A) 7 cm (B) 8 cm 
 (C) 6 cm (D) 9 cm 

11. mebKÙeeDeeW 14, 51, 35, 56, 60, 74, 62 leLee 48 keâe ceeOÙe nw : 1 

 (A) 65  (B) 55 (C) 50 (D) 62 

 The mean of the numbers 14, 51, 35, 56, 60, 74, 

62 and 48 is :  

 (A) 65  (B) 55 (C) 50 (D) 62 

12. yeejcyeejlee meejCeer keâe yenguekeâ Jeie& nesiee : 1 

45-55 55-65 65-75 75-85 85-95 95-105 

18 10 14 21 7 4 

 (A) 75-85 (B) 45-55 (C) 55-65 (D) 95-105 

 The mode class of the frequency table will be : 

45-55 55-65 65-75 75-85 85-95 95-105 

18 10 14 21 7 4 

 (A) 75-85 (B) 45-55 (C) 55-65 (D) 95-105 
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13. DeeBkeâÌ[eW 28, 15, 6, 24, 13, 30 leLee 25 keâe ceeOÙekeâ nw : 1 

 (A) 25  (B) 28 

 (C) 24  (D) FveceW mes keâesF& veneR 
 The median of the data 28, 15, 6, 24, 13, 30 and 

25 is : 

 (A) 25  (B) 28 

 (C) 24  (D) None of these 

14. DeÛÚer heÇkeâej mes heWâšer ieF& leeMe kesâ 52 heòeeW keâer ieñer ceW mes Skeâ heòee 
efvekeâeuee peelee nw~ Jen heòee iegueece keâe nes, keâer heÇeefÙekeâlee nw : 1 

 (A) 
52

1
  (B) 

13

1  

 (C) 
13

12
  (D) 

12

1  

 One card is drawn from a well shuffled deck of 

52 cards. The probability of getting a card of a 

jack is : 

 (A) 
52

1
  (B) 

13

1  

 (C) 
13

12
  (D) 

12

1
 

15. efvecve ceW mes keâewve-meer efkeâmeer Iešvee keâer heÇeefÙekeâlee veneR  nes mekeâleer nw ?1 

 (A) − 0.5 (B) 
3

2
 (C) 18% (D) 0.2 

 Which of the following cannot be probability of 

any event ? 

 (A) − 0.5 (B) 
3

2
 (C) 18% (D) 0.2 
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16. efjkeäle mLeeve keâer hetefle& keâjW : 1 

 efkeâmeer heÇÙeesie keâer meYeer heÇejefcYekeâ IešveeDeeW keâer heÇeefÙekeâleeDeeW keâe Ùeesie 
................. nw~ 

 Fill in the blank : 

 The sum of the probabilities of all the 

elementary events of an experiment is ……….. . 

KeC[ – ye 

SECTION – B 

17. efoKeeFS efkeâ cos 23° cos 67° − sin 23° sin 67° = 0 2 

 Show that cos 23° cos 67° − sin 23° sin 67° = 0 

18. 3 mesceer ef$epÙee Jeeues Je=òe kesâ kesâvõ mes pees efyevog 5 mesceer keâer otjer hej nw, 
Gme efyevog mes mheMe&-jsKee keâer uecyeeF& %eele keâerefpeS~ 2 

 Find the length of the tangent from a point 

which is at a distance of 5 cm from the centre of 

the circle of radius 3 cm. 

19. 4.2 mesceer ef$epÙee Jeeues Skeâ Oeeleg kesâ ieesues keâes efheIeueeÙee peelee nw Deewj 
6 mesceer ef$epÙee Jeeues Skeâ yesueve kesâ Deekeâej ceW heefjJeefle&le efkeâÙee peelee nw~ 
yesueve keâer GBâÛeeF& %eele keâjW~ 2 

 A metallic sphere of radius 4.2 cm is melted and 

recast into the shape of a cylinder of radius       

6 cm. Find the height of the cylinder. 

20. efvecve meejCeer keâe ceeOÙe %eele keâerefpeS : 2 

Jeie&-Devlejeue 10-25 25-40 40-55 55-70 70-85 85-100 
yeejcyeejlee 2 3 7 6 6 6 
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 Find the mean of the following data : 

Class-Interval 10-25 25-40 40-55 55-70 70-85 85-100 

Frequency 2 3 7 6 6 6 

21. Skeâ Lewues ceW 5 njer ieWoW, 3 ueeue ieWoW leLee 8 mehesâo ieWoW nQ~ Lewues mes 
Skeâ ieWo ÙeeÂÛÚÙee efvekeâeueer peeleer nw~ heÇeefÙekeâlee %eele keâerefpeS efkeâ 
efvekeâeueer ieF& ieWo (i) mehesâo (ii) njer veneR nes~ 2 

 A bag contains 5 green balls, 3 red balls and  

8 white balls. A ball is drawn at random from 

the bag. Find the probability that the ball drawn 

is (i) white (ii) not green. 

KeC[ – me 

SECTION – C 

22. meJe&meefcekeâe efmeæ keâerefpeS : 4 

AA
A

A
tansec

sin1

sin1
+=

−

+  

 Prove the identity : 

AA
A

A
tansec

sin1

sin1
+=

−

+
 

23. oes mekesâvõerÙe Je=òeeW keâer ef$epÙeeSB 10 mesceer leLee 8 mesceer nQ~ yeÌ[s Je=òe keâer 
Gme peerJee keâer uecyeeF& %eele keâerefpeS pees Úesšs Je=òe keâes mheMe& keâjleer nes~ 4 

 Two concentric circles are of radii 10 cm and  

8 cm. Find the length of the chord of the larger 

circle which touches the smaller circle. 
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24. Skeâ ef$eYegpe ABC keâer jÛevee keâerefpeS, efpemekeâer YegpeeSB 6 mesceer,  
7 mesceer leLee 8 mesceer neW~ efheâj Skeâ DevÙe ef$eYegpe keâer jÛevee keâerefpeS 

efpemekeâer YegpeeSB ef$eYegpe ABC keâer mebiele YegpeeDeeW keâe 
5

7 JeeB neW~ 

4 
 Construct a triangle ABC whose sides are 6 cm, 

7 cm and 8 cm. Construct another triangle 

whose sides are 
5

7
th of the corresponding sides 

of ∆ ABC. 

25. 14 mesceer ef$epÙee Jeeues Skeâ Je=òe keâer keâesF& peerJee kesâvõ hej Skeâ mecekeâesCe 
yeveeleer nw~ mebiele oerIe& ef$epÙeKeC[ keâe #es$eheâue %eele keâerefpeS~ 4 

 A chord of a circle of radius 14 cm subtends a 

right angle at the centre. Find the area of the 

corresponding major sector. 

26. jMeero keâes pevceefove kesâ Ghenej kesâ ™he ceW Skeâ ueóÒ efceuee efpeme hej jbie 
veneR efkeâÙee ieÙee Lee, Jen Gme hej Deheves ceesefceÙee (Crayons) jbieeW mes 
jbievee Ûeenlee Lee~ Ùen ueóÒ Skeâ Mebkegâ kesâ Deekeâej keâe nw, efpemekesâ Thej 
Skeâ DeOe&ieesuee DeOÙeejesefhele nw~ ueóÒ keâer hetjer TBÛeeF& 5 mesceer nw Deewj 
Fmekeâe JÙeeme 3.5 mesceer nw~ Gmekesâ Éeje jbie efkeâÙee peeves Jeeuee #es$eheâue 

%eele keâerefpeS~ (π = 
7

22
 ueerefpeS)    4 

 Rasheed got a playing top as his birthday 
present, which surprisingly had no colour on it. 
He wanted to colour it with his crayons. The top 
is shaped like a cone surmounted by a 
hemisphere. The entire top is 5 cm in height and 
the diameter of the top is 3.5 cm. Find the area 

he has to colour it. (Take π = 
7

22
) 
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27. 144 yee@ue hesveeW kesâ Skeâ mecetn ceW 20 yee@ue hesve Kejeye nQ Deewj Mes<e 
"erkeâ nQ~ vetjer Jen hesve Kejerovee Ûeenleer nw, pees DeÛÚe nes, hejvleg Kejeye 
hesve Jen veneR Kejerovee Ûeenleer ~ ogkeâeveoej Fve hesveeW ceW mes ÙeeÂÛÚÙee 
Skeâ hesve efvekeâeuekeâj Gmes os oslee nw~ Fmekeâer keäÙee heÇeefÙekeâlee nw efkeâ (i) 
Jen Jees hesve Kejerosieer (ii) Jen Jees hesve veneR Kejerosieer ? 4 

 A lot consists of 144 ball pens of which 20 are 

defective and others are good. Nuri will buy a 

pen if it is good, but will not buy if it is defective. 

The shopkeeper draws one pen at random and 

gives it to her. What is the probability that (i) she 

will buy (ii) she will not buy it ? 

KeC[ – o 

SECTION – D 

28. Skeâ meceleue peceerve hej KeÌ[er ceerveej keâer ÚeÙee Gme efmLeefle ceW 45 ceer 
DeefOekeâ uecyeer nes peeleer nw peyeefkeâ metÙe& keâe GvveleebMe (altitude) 60° 

mes Ieškeâj 30° nes peelee nw~ ceerveej keâer TBÛeeF& %eele keâerefpeS~ 6 
 The shadow of a tower standing on level ground 

is found to be 45 m longer when sun's altitude is 

reduced from 60° to 30°. Find the height of the 

tower. 

DeLeJee 
OR 

 50 ceer TBÛes Skeâ efkeäueheâ kesâ efMeKej mes osKeves hej Skeâ mlecYe kesâ efMeKej 
Deewj leue kesâ DeJeveceve keâesCe keÇâceMe: 30° Deewj 45° efoKeeF& osles nwb~ 
mlecYe keâer TBÛeeF& %eele keâerefpeS~ 

 From the top of a cliff 50 m high, the angles of 
depression of the top and bottom of a tower are 
observed to be 30° and 45° respectively. Find the 
height of the tower. 
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29. 4 mesceer ef$epÙee kesâ Skeâ Je=òe hej Ssmeer oes mheMe&-jsKeeSB KeeRefÛeS pees 
hejmhej 60° kesâ keâesCe hej efceueleer neW~ 6 

 Draw a pair of tangents to a circle of radius 4 cm 

which are inclined to each other at an angle of  
60°.  

30. Oeeleg mes yeveer Skeâ Kegueer yeeušer Mebkegâ kesâ Skeâ efÚvvekeâ kesâ Deekeâej keâer nw, 
pees Gmeer Oeeleg kesâ yeves Skeâ KeesKeues yesueveekeâej DeeOeej hej DeOÙeejesefhele 
nw~ Fme yeeušer kesâ oesveeW Je=òeekeâej efmejeW kesâ JÙeeme 45 mesceer Deewj          
25 mesceer nbw leLee yeeušer keâer kegâue TOJee&Oej TBÛeeF& 40 mesceer Deewj 
yesueveekeâej DeeOeej keâer TBÛeeF& 6 mesceer nw~ Fme yeeušer keâes yeveeves ceW 
heÇÙegkeäle Oeeleg keâer Ûeeoj keâe #es$eheâue %eele keâerefpeS, peyeefkeâ Fme yeeušer keâer 
cegef"Ùee Ùee nlLes keâes FmeceW meefcceefuele veneR keâj jns nwb~ 6 

 An open metal bucket is in the shape of a 

frustum of a cone mounted on a hollow 

cylinderical base made of same mettalic sheet. 

The diameters of the two circular ends of the 

bucket are 45 cm and 25 cm, the total vertical 

height of the bucket is 40 cm and that of 

cylinderical base is 6 cm. Find the area of the 

metallic sheet used to make the bucket, where 

we don’t take into account the handle of the 

bucket. 

DeLeJee 
OR 

 Skeâ "esme efKeueewvee Skeâ DeOe&ieesues kesâ Deekeâej keâe nw efpeme hej Skeâ uecye 
Je=òeerÙe Mebkegâ yevee nw~ Fme Mebkegâ keâer TBÛeeF& 2 mesceer nw Deewj DeeOeej keâe 
JÙeeme 4 mesceer nw~ Fme efKeueewves keâe DeeÙeleve %eele keâerefpeS~ Ùeefo Skeâ 
uecye-Je=òeerÙe yesueve Fme efKeueewves kesâ heefjiele nes, lees yesueve Deewj efKeueewves 
kesâ DeeÙeleveeW keâe Devlej %eele keâerefpeS~ (π = 3.14 ueerefpeS) 
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 A solid toy is in the form of a hemisphere 

surmounted by a right circular cone. The height 

of the cone is 2 cm and the diameter of the base 

is 4 cm. Determine the volume of the toy. If a 

right circular cylinder circumscribes the toy, 

find the differences of the volume of the cylinder 

and the toy. (Use π = 3.14) 

31. Deeke=âefle ceW OACB kesâvõ O Deewj ef$epÙee 3.5 mesceer Jeeues Skeâ Je=òe keâe 
ÛelegLeeËMe nw~ Ùeefo OD = 2 mesceer nes, lees (i) ÛelegLeeËMe OACB 
(ii) ÚeÙeebefkeâle Yeeie keâe #es$eheâue %eele keâerefpeS~ 6 

 

 

 
 

 In figure OACB is a quadrant of a circle with 

centre O and radius 3.5 cm. If OD = 2 cm, find 
the area of the (i) quadrant OACB (ii) shaded 
region. 

 

 

 

 

 

C 

A 

D 

B O 

C 

A 

D 

B O 
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DeLeJee 
OR 

 Deeke=âefle ceW efoKeeS ieS Je=òeKeC[ AYB keâe #es$eheâue %eele keâerefpeS, 
Ùeefo Je=òe keâer ef$epÙee 15 mesceer Deewj °= 60|AOB  neW~ 

 
 

 
 
 
 
 Find the area of the segment AYB as shown in 

figure, if the radius of the circle is 15 cm and 

°= 60|AOB . 

 

 

 

 

32. efvecve meejCeer keâe ceeOÙekeâ 146.7 nw~ Ùeefo kegâue yeejcyeejlee 40 nes, 
lees x Deewj y keâs ceeve %eele keâerefpeS~ 6 

Jeie&-Devlejeue yeejcyeejlee 
118-127 3 
127-136 x 
136-145 9 
145-154 12 
154-163 y 
163-172 4 
172-181 2 

O 

B A 
Y 

60° 

O 

B A 
Y 

60° 
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 The median of the following data is 146.7. Find 

the value of x and y if the total frequency is 40. 

Class-Interval Frequency 

118-127 3 

127-136 x 

136-145 9 

145-154 12 

154-163 y 

163-172 4 

172-181 2 
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